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EXERCISE 1

1. Write the numbers.

(o)
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2. Write the numbers.

5000+200+70+8=

(b)

2000 + 50 =

(c)

4OOO+2OO+7=

(d)

(o)

6

Thousonds Hundreds Tens Ones

@@@
@@

@@ @@@
@@@
@

ooo
ooo
oo

Thousonds Hundreds Tens Ones

@@ @@@
@@

Thousonds Hundreds lbns Ones

@@@
@

@@ ooo
ooo
o

Thousonds Hundreds Tens Ones

@@@
@@@

@@@ ooo
oo

6000+30+5=



3. Write the numbers.

4. Write the numbers in words.

Four thousond, five hundred
ond forty-ei9ht

Three thousond, three hundred
ond two

One thousond, seven hundred
ond twelve

Three thousqnd ond four hundred

Six thousond ond nine

Four thousond, five hundred ond
two



EXERCISE 2
1. Whot does eoch diqit stond for?

(o) 2a88tr
799

t-
I

f.,r_ aa,1

numDers.

447

tl
I

(b) 6 (c) 7

z- Write the missing

(o) sss=e00+[--_-l+g

(b) 26s8 = 2000 + 600 + s0 * [- ]

(c) 4sss = 4000 + goo * f- ] * s

(d) 1773=1ooo+E+70+3

(e) 3332

(f) s6eo = 5000 + [ l * 
go

(s) 6206 = 6000 + [ 
--l 

+ e



3. Fill in the blonks.

(o) 5897 is o 4-digit number.

It is mode up of 

- 

thousonds,

hundreds, tens ond

ones.

(b) In 5897, the digit 5 stonds for

(c) In 5897, the digit is in the hundreds plcce.

The volue of the digit is

(d) In 5897, the digit in the tens plcce is 

- 

ond

the digit in the thousonds ploce is

4. Fill in the blonks.

(o) In 3801, the digit 8 stonds for

(b) In 7604, the digit is in the hundreds ploce.

(c) In 5263, the volue of the digit 6 is

(d) In 3507, the digit 0 is in the 

- 

ploce.

(e) In 3895, the digit in the ones ploce is ond

the digit in the hundreds plqce is
9

Thousonds H und reds Tens Ones

5 8 9 7



EXERCISE 3
1. (o) Which is greoter 4037 or 40732.

(b) Which is smoller 5001 or 5010?

2. 3747, 4082,3761,3671

(o) Which is the greotest number?

(b) Which is the smollest number?

3. Frll rn tne

(o) 768s

(b) s02s

(c) s203

4. (o) Arronge the numbers in order.
Begin with the greotest.

(b) Arronge the numbers in order'
Begin with the smollest.

blonks with the words greoter or smoller.

thon 7865.

thon 5031.

thon 5199.

ts

is

L

7406
7064 7646

7604

CJH
8709

8907 8970

8790

10



5. (o) Use these cords to moke different 3-digit numbers.

66Q
The 3-digit numbers ore:

(b) Use these cords to moke different 3-digit numbers.

66Q
The greotest number is

The smollest number is

6. Whot is the greotest 4-digit number thot you con moke#using oll the digits 1, 0, 3, 8 ?

7. Whot is the smollest 4-digit number thot you con moke
using oll the digits 7, 5,2, 6?

11



EXERCISE 4
1. Fill in the blonks.

(o)

(bj

2. Fll

(o)

(b)

(c)

(d)

(")

(f)

(s)

(h)

1083

2316

1325

4917

+100=

in the blonks.

is '100 more thon 6235.

is 100 less thon 2416.

is 10 more thon 385.

is 10 less thon 600.

is 100 more thon 3942.

is 1000 less thon 4507.

+400=

-100=

HundredsThousonds

o
o

oo@@@@@@
@@@

@@

rDts Hundreds Tens Ones

@@@
.:,4

@ ooo
ooo

12



3. Fill in the

(o) saos

(b) s40e

(c) saos

(d) s4os

/-\ AOOa

(f) 6se8

/-\ AOOa
\Y) VJJV

rh\ 6qoR

blonks.

+

4. Fill in the blonks.

@) a86a-
(b) 4864 -
(c) 4864 -
(d) 4864 -
(e) 40s0 -
(f) 4oso -
(s) a0s0 -
(h) 4050 -

5. Complete the following

(o) 3789,3799,

(b) 4738,4838,4938,

(c) 987,1987,

(d) _,

- 5419

6409

5410

5509

7008

7098

7994

6999

= 4863

= 4764

= 3864

= 4854

= 4049

= 3O5O

= 3950

= 4040

number potterns.

, 3819

?oR7

1300, 1301, 1302

+

+

+

+

-r

-r



Complete the following number potterns.

(o) , 1301, 1300, 1299

(b) 3e03,

@) a737,

(d) 3708,

2903, 1903,

4637, 44?7

, 3688, 3678

7. Write the missinq numbers.

4024 4034 4064

3934

3834 5636

4634 5634

2631 4631

2630 s630

2728 3028



EXERCISE 5
1. Fill in the blonks

(o)

difference

(b)

tne sum oT v ond / rs

9-7=
The difference between 9 ond 7

2.

],

eQs=
The sum of 6 ond 8 is

3.

12Os=
The difference between 12 ond 5 is



i-r!

4. Find the sum of 65 ond 89.

65+89=

The sum of 65 ond 89 is

5. Find the sum of 145 ond 285.

6. Find the difference between 96 ond 68.

7. Find the difference between 387 ond 512.



EXERCISE 6
1. Cik Holimoh mode 150 pineopple torts for o po rty.

After the po rty, there were 16 torts left.
How mony torts were eoten ot the po rty?

150-16=

torts were eoten ot the po rty.

2. Roju's sister is 15 yeors
How old is Roju if he ii

old.
4 yeors older thon his sister?

'15 4

3. Aihuo wonts to wrop 42 presents for o porty.
She hos wropped 29 presents.
How mony more presents does she need to wrop?

17



4. Roni is 12 yeors old.
Her sister is 21 yeors old.
Find the difference in oge between them.

12

5. Mory weighed 39 kg lost yeor.
She now weighs 42 kg.
How mony kilogroms hos she goined?

6. After giving owoy lO comic books,
Tom hod 36 comic books left.
How mony comic books did Tom
hove ot first?

18



7. Mrs Wong bought o typewriter ond q rodio.
She spent $200 oltogether.
lf the rodio cost $65, how much did she poy for the
typewriter?

8. Somy is 145 cm toll.
He is 28 cm shorter thon Copol.
Whot is Copol's height?

9. After giving 45 stomps to his friends, Sumin hod 379
stomos left.
How mony stomps did Sumin hove ot first?

19
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EXERCISE 7

t. There were 120 boys ot o concert.
There were 15 more girls thon boys.

(o) Write the missing numbers in the boxes.
:

120

Boys

Cirls

(b) How mony girls were there?

(c) How mony children were there oltogether?

Ir r
lt I

20



z. There ore 260 members in o chess club.
136 of them ore boys.

(o) Write the missing numbers in the boxes.

(b) How mony girls ore there?

Boys

Cirls

(c) How mony more boys thon girls ore there?

21



3. There ore 72 mole workers in o foctory.
There ore'14 fewer femole workers than mole workers.

(o)
(b)

How mony
How mony

femole workers ore there?
workers ore there oltogether?

Mole

Femole ],

4. Mr Wu poid $920 for o motorcycle ond $245 for o bicycle.
(o) How much did he spend oltogether?
(b) How much cheoper wos the bicycle thon the motorcycle?

22



EXERCISE 8
1. Add.

5107 +2 =

5107 + 70

5107 + 600 =

5107 + 3000 =

3624+3 =

3624+50 =

3624+2OO =

3624 + 4OOO =

5243 + 50 =2480 + 300 =

4825 + 14O =

1934 + 4O2O =

2370 + 2500 =

3402 + 4006 =

-\'E 6216 + 602 =-t'arG*

5201 +390- i'z---------.-----J'

36'14 + 5320 =
Z-----.-------------".-

9150 + 320 =

23



2. Add.

Whqt tobles do we eqt?

Write the letters which motch the onswers obove to find out'

i,.

41 07
5

T;6

7254
+92

tr

o82
736

f;Itr

1902
+ 4563

f-

3058
-f to

M

t 620
671

tL

5108
4829

TFc

3443
227 0

IA

6355
824

lv

3074 1818 7179 1818 7346 5713 4112 8291 9937 6465



3. There ore 2618 odults ond 1254 children ot o conceru.
How mony people ore there oltogether?

2618 + 1254 =

There ore people oltogether.

4. Dovid collected 3546 stomps.
Weihuo collected 632 more stomps thon Dovid.
How monv stomps did Weihuo collect?

5. After delivering 1430 letters, o postmon still hod 390 letters
to deliver.
How mony letters were there oltogether?

25



EXERCISE 9
1. Add.

2067
459 4

B.

2387
6805

3247
1968

D.

259 4
533

E.

439 6
2895

F.

907 6
348

G.

4428
3864

H.

37 69
385

1346
5914

Join the dots by following the order of the onswers obove'

You will get o picture of o
9424

START

7291

3127v.- 9192



2. 2176 people ottended o concert on the first night.
27 45 people ottended the concert on the second niqht.
How mony people ottended the concert on both nights?

3. After poying $1138 for o television set, Mr Chon hod $862
left.
How much monev did he hove ot first?

4. A Computer costs ) to65
ft ir gdZf.n"op"r tnon o piono.
Whot is the cost of the piono?

{

27



EXERCISE 10

1. Subtroct

932 4 65 47
29

7647
247

1589
-131 4

41 46
833

9045
811

5691
455

4393
1800

27 52
-1492

Colour only the boxes which contoin the onswers.
Whot letter does it show?

2901 2593 4993 6518 9326

313 1400 8324 3313 s833

9084 5236 Bs26 1260 6558

7800 275 9322 '4234 ,4 (70

2A



2. There were 2546 odults ond 1037 children ot o concerr.
How mony more odults thon children were there?

3. Ailion hqd $1860.
She spent $1248 ond soved the rest.
How much did she sove?

4. Meihuo collected 3586 sogo seeds.
She collected 1864 more sogo seeds thon Sufen.
How monv soqo seeds did Sufen collect?

29



EXERCISE 11

1. Subtroct

c - 9388
u - 2329
T -3497

E - 1129
s - 3729
o - 8194

R - 1516
o- 9589
u - 8258

Be *{.{.*'t.t.t.r.{. Ot All timeS.

Write the letters which motch the onswers.
You will find the missinq word.

o
30

9474
86

9835
246

4066
-1737

2435
919

39 62
465

2412
-1243

97 31

-1537
8340

a2
6538

-2809

o@ o@ @o @o



2. Subtroct

Write the letters which motch the onswers.
You will find the nome of o fruit.

A-2949 K-5785 U-4726
R-2837 T-7683 l-3859
F-6786 C-1872 )-8272

923I
966

o

3533
584

16)

61 47
-4275

/:\
\:,/

6ZbU

@

7 371
585

Q'

421 6

-1379

/;\
\9'

I I iz

- 2426

@

9542
5b65

@

7 930
247

fq)

o@oo @@ @@



EXERCISE 12

1. Subtroct ond write the onswers in the boxes.

Across

A. 9101 - 2759

c. 8290 - 4986

D. 6000 - 486

F. 9400 - 6869

t. 5102 - 897

J. 6400 - 4439

Down

A. lo32 -774
B. 8070 - 5635

D.796a-2240
E. 4005 - 2678

c. 7533 - 4492

H. aM4 - 485

32

L



A school librory hod 2040 books.
1458 of them hod been borroweo.
How mony books were left in the librory?

3. A bookshop hos 3690 cords for sole.
1861 of them ore birthdoy cords.
How mony ore not birthdoy cords?

4. A worker needs 3606 bricks to build o house.
He hos 2579 bricks now.
How mcny more bricks must he get?

33



EXERCISE 13

1. Dovid ordered 1500 sticks of chicken sotoy ond 850 sticks

of beef sotoY for o PortY.
264 sticks of sotoy were left ofter the po rty'

How mony sticks of sotoy were eoten ot the po rty?

2. Mr Lin sold 654 durions on Soturdoy'
He sold 346 more durions on Sundoy thon on Soturdoy'

How monv durions were sold on both doys?

Sundoy

Soturdoy

\

34



3. There were 3245 people ot o porode.
1400 of them were men, 980 were women.
How monv children were there?

4. Devi soved $1435.
Meilin soved $298 more thon Devi.
Alice soved $325 less thon Meilin.
How much did Alice sove?

35



5. A foctory hos 2000 workers'
1340 of them ore men.
The rest ore women.
How mony more men thon women ore there?

6. The totol cost of on oven ond o refrigerotor is $2030.
The oven costs $695.
Find the difference between the costs of the oven ond

refriq e ro to r.

L
36



REVISION 1

1. Fill in the blonks.

(o) 200 + 70 + 1=
(b) s000 + 7oo + 2

(c) 892 =
(d) 3073 = 3000

2.

90+2

the words greoter or smoller.

thon 675.

thon 856.

thon 1155.

thon 9050.

is in the hundreds ploce.

in the thousqnds ploce is

+3

Fill

(o)

(b)

(d)

(e)

(f)

(o)

(b)

(c)

4. Fill

(o)

(b)

(c)

(d)

(e)

(f)

in the blonks with

756 is

860 is

7000 is

1055 is

9005 is

10 000

thon 6999.

thon 9999.

9027 , the volue of the diqit 2 is

2458, the digit

3246, the digit

ts

3. ln

tn

tn

in the blcnks.

350 is 10 more thon

218 is 100 less thon

6875 is 1000 more thon

is 10 less thon 525.

is 100 less than 970.

is 1000 more thon 7061.

37
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5. The numbers on eoch side of the triongle cdd up to 1000.
Write the missing numbers.

o. wnfe fne mtsstno numDers.

c) [20t-l +1ooo )E +2oo 
)

2034 + 12OiA =

(b) lEssl -2ooo )

3888 - 2080 =

(.) FGt -600 )

4852 + 608 =

(d) Fcotl -8oo )

l.

3604 - 850 =
38



7. After reoding 1445 poges of o book; Mrs Chen still no5
.2.58 poges to i'eod.
How mony poges ore there in the book?

8. There were 3521 people ot o funfoir.
2868 of them were odults.'
How monv children were there?

9. Mr Fu wonts to buy o motorcycle which costs $5430.
He hos $3350.
How much more money does he need?



10. Mrs Wu hod $2790.
She spent $1430 on o refrigerotor ond $890 on o television
ser.
How much monev hod she left?

1 1. A postmon delivered '1050 letters on Mondoy.
He delivered 206 fewer letters on Tuesdoy thon on Mondoy.
How mony letters did he deliver on both doys?

h

40



EXERCISE 14
1. Write the numbers.

4 sixes =

(b) e43lAeel44aeP l4a 4.n
5 TrVeS = 

|

(c)

@o@offio
@o

@o@o@o
@

2 sroups or + = [--_-]

5groupsoT5=l 
I

(o)

(d)

€€€

@@a
€7€7€
€€@

€€€

€€€

€€€

€ezg

ffi frft
% ffi

qs
ffi w

41



2. Complete the

(o) There ore

tobles.

3 feothers on o hot.

(b) A robbit hos 4 legs.

(c) A flower hos 5 petols.

Number of flowers 1 z 5 4 5

Number of petcls 5 10

3. Complete the number potterns.

@) 2, a,6, _, 14, _,8,2o.
(b) 3, 6, 9, _, 21, _,27,30.
@) a,8,12, _, ,24, , 40.

(d) s, 10, ls, _, _, 30, _, , 4s, s0.

(e) 10, 20, 30, 

-, 

, 60, 

-, 

, 90, 100.

Number of hots 1 J 4 q

Number of feothers 5 6

Number of robbits 1 2 4 5

Number of legs 4 8

42



EXERCISE 15

1. There ore 9 bees in eoch group.

(o)

There ore bees oltogethe

2. Complete the following sentences.

5 multiplied by : = [--l 5 groups or > =

(b)

8uE
@^@
@€/@ EUB

@@@
@@@
@@@

@@@
6,@@
@#@

@@@
6@@
@@@

Multiply 9 by 3.

d^a
ffi

tg/e'Uml/

It
D-g
Ea,-
4r' Zr'

O-D
ay'E'afa

z*a=I
43

7 +7 +7 47 =



@@s@@s@g
@9 99 s@ g@
9@9s9@99
9g@sg@99

666666&666&6
(b)

egg&&s&&sge&&eegegggg ggsgss

3. Complete the following sentences.

(o)

8x4=

4x8=

6x2=

2x6=

(c)

f l-f ]tl-lYX

3x

44

f_]-f lt-



EXERCISE 16

1. There ore 12 birds oltoqether.

(o)

(b) Divide 12 birds into groups of 4.
How mony groups ore there?

Divide 12 birds into 3 equol groups.
How mcny birds ore there in eoch group?

12-3-

There ore birds in eoch group.

2.

There ore

Complete the

9roups.

division sentences.

r? r?vvvv
t?t?

r? t?
ww

3 groups of 4

@@
@

@flI @@
@

@@
@

@@
#

3=I
45

15 - 5 =



3. Complete the number sentences on eoch bottle.

6 x2=12

1),)-

x2=18 2x-=10

x 5= zl

21 -j-

x 3 = 15

27 :3=

24: 4=

x 4= 36

36+4=

x 4=32

-x5=10tu+5=

X)=5U

30-5=

5x-=45
45-5=-

L



4. Divide.

\Y/ \:2 \:!./ /J-> \y \Y/ \Y/
f-2//"-\.- lT rT -,_.?\/--;:---;--1 l-l/ zu= +., H.. ..1 u--,-__v____v--v €ffi ,,-<\#n ... .1\ [ n-T-t-l----Tere _\-<*

/ 1o * 5 Ll | -t--> \='/ \r-'l \7z-v--vr\g €A ._--..\
z 30*10 l--l I

u,.-.
--E-IEL ,-<rr ./->/ 1a=, ll | .{-1'r----"// to- z H | =- .TI-TJ -'_\-- --(y / __1 f-1

-,-) / zt+5 A I

Ur--' *9 .(9- rsz
=fr lI-Tl' '- <r'./ ^- , ll | ./'>/ 3Z+4 A | / t-----v---]i:z.v

-j'-> ,/ 
"c=q 

ll I/ r.-^ F I

=- IT-TI -,,j \:,/ \=/ \=,/

/ 40*5 H L=,-_V--v !z ,/.--')-^frm /-t
llll/ 36+4 ! |

U--., \Y/ \Y/ v U,_.,
.<- TflTr4 . =_lffll -n

,/ 40+10 Ll | ,/ 80*10 l--l l

5x2=10
10+2=5

47



a
EXERCISE 17

1. Multiply.
Then troce o poth for the mouse to get to the cheese
sofely.
Eoch onswer on the poth is greoter thon 12.

5x6 5x9

0x5
=

5X I

=

\



2. Divide.

Troce o poth through the moze by following the order of
the onswers obove.

START



EXERCISE 18

1. Mrs Li bought 3 bogs of peors.
There were 4 peors in eoch bog.
How mony peors did she buy oltogether?

She bought peors oltogether.

2. 5 children shore 40 rombutons equolly.
How mony rombutons does eoch child get?

Eoch child gets 

- 

rombutons.

3. Mory soved $4 o week.
How mony weeks did she toke to sove $24?

\

50



4. Mingli eorned $45 in 5 doys.
He eorned the some omount eoch doy.
How much did he eorn o dov?

5. A toilor mode 8 dresses.
He used 3 m of cloth for eoch dress.
How much cloth did he use in oll?

6. Mr Wu bought 6 tubs of ice creom.
Eoch tub contoined 2 litres of ice creom.
How mony litres of ice creom did he buy?
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EXERCISE 19
1. Roy hod 3 times os mony comic books os Somy.

lf Somy hod 7 comic books, how mony comic books did Roy
hove?

Somyf__--.l

Roy

Roy hod comic books.

7

\---1J

?

2. Mingli soved $32 in 4 weers.
He soved the some omount of money eoch week-
How much did he sove o week?

?

3. There ore 20 monkeys in o zoo.
There ore 4 times os mony monkeys os tigers.
How monv tioers ore there?

Mon keys

Tigers ffi

|'

52

?



A A toy cor costs $5.
A toy oeroplone costs 4 times os much os the toy cor.

(o) Write the missing numbers in the boxes.

$[ ]

Cor

Aeroplone

(b) Whot is the cost of the toy oeroplone?

(c) How much more does the toy oeroplone cost thon the
toy cor?

$s

ffi
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5. Meihuo soved $24.
She soved 3 times os much os Weilin.

(o) Write the missing numbers in the boxes.

Meihuo
'I r
f$l)-weilinffi

$[ l

(b) How much did Weilin sove?

(c) How much did Meihuo ond Weilin sove oltoqether?



EXERCISE 20
1. Meiling reods 8 poges of o book a

After reoding the book for 4 doys,
reo o.
How mony poges ore there in the

ooy.
she still hos 5 poges to

book?

85
/-\

f f f I ffi

2. Roni hod $47.
After poying for
Find the cost of

prowns, she hod $20 left.
prowns.

3kgof
1 kg.of

?

\]-
$20
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3. Mory bought 8 opples.
She bought twice os mony oronges os
How mony more oronges thon cpples

oppres.
did she buy?

8?
Apples f__l

Oronges I
..-v-

?

4. Apole is3 m long.
A rope is 8 times os
lf the rope is divided
length of eoch Piece

long os the pole.
equolly into 4 pieces, whot is the
of rope?
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EXERCISE 21

1. Multiply.

900
x2

800
X3

700
x4

600
X5

57



2. Multiply.

X

X

90
2 X

80
5

600 200
5

500
3X4 X

600
q

40
6

300
9x

900
x4 X

20
7 X

200
6



EXERCISE 22
1. Multiply.

Where ore the boots soiling to?

Write the letters which motch the onswers to find out.

368 84 68 48 124 tb6 255 288

ISLAND
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2. Find

(o) 41
x5

52
x3

43
x3

the product for eoch

4'1 x5=

of the following.

3. Fill

(o)

(b) 3 x52=

in the blonks.

The product of 3 ond 43 =

(b) The product of 62 ond 4 =

(c) The product of 5 qnd 71 =

60



EXERCISE 23
1. Multiply.

Colour the spoces which contoin the onswers obove.
They will leod you to where the treosure is buried.

37
x2

AI

x3
58

xz
86

x4

37
x5

23
x5

5Z
x3

57
x4

65
x3

43
x2

79
x4

98
x5

61



2. Find the product for eoch of the following' Then join the

dots by following the order of the products to complete the

Dictu re.
136.

.106

135. . 130

144 .

72.

100.

54.

. 171

. 122

140 .
. 200

.280

183.

. 125

. 400
.36

. 388

224

t

52x2 =

61 x3 =

24x3 =
35x4 =

48x 3 =

27x5 =

4x34=

5x26=
3x 59 =

5x40=

5x56=
5x80=
4x97 =

4x56 =

62

''-LD=



3. One bus con corry 46 possengers.
How mony possengers con 3 buses corry?

4. Meilin mode 5 bows.
She used 75 cm of ribbon
How mony centimetres of use oltogether?

for eoch bow.
ribbon did she

5. Roju soved $60 o
How much did he

month for 4 months.
sove oltogether?
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EXERCISE 24
1. Multiply.

Write the letters which motch the onswers.
You will find o messoge.

868 244 912 1065

1000 546 148 906 484

250
x+

374
x2

304

64



2. Multiply.

Coiour the spoces which contoin the onswers.
You will find on onimol which is found in the desert.

308x5=

4 x 264 = 495 x2 =

8x500= 280x5=

2x163= 700x3=

5x214= 837 x4=

4 < 135 =

3765



3. Somy bought 240 pockets of sugor.
Ecch pocket of sugor costs $3.
How much did he poy oltogether?

4. Sunshine Estote hos 4 blocks of flots.
There ore 104 flots in eoch block.
How mony flots ore there oltogether?

5. A bicycle costs $385.
A motorcycle costs 5 times os much os the bicycle.
Whot is the cost of the motorcvcle?
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EXERCISE 25
1. Divide.

Whct keys connot be used to open cupboords?

Write the letters which motch the onswers.
You will find two of them.

7R1 43 48 t) 31 R1 49R1

20 14R1 41 R1 15 5tK I 49R1



2. Colour the spoces which contoin even numbers blue.

68



REVISION 2
1. Write the numbers.

(d) Six thousqnd ond thirty

2. Write the numbers in words.

(o) Nine hundred ond forty-two

(b) Four thousond, six hundred

(c) Three thousond ond four

ond five

4062

5880

3. Write the missinq numbers.

Zu.-...,,--O.,*.-- --.=':, :19
6 more

(o)

(b)

O
1000less

100less



4. Write the missing numbers.

(o) ^5

(b)

(d)

Which is

(o) 980

(c) 279

greoter?

Which is smoller?

(o) 312 or 309

1008 or 1010

2109 or 2091

(b) 2090 or 2099

(d) 4779 or 5009

5.

or 978

or 978

(b)

(d)

tl

DOi--=]
lssz+llezz+ll tlasz+l

6.

(c) 9009 or 9080
70



7. There ore 1407 green beods.
There ore 795 fewer green beods thon brown beods.
How mony brown beqds ore there?

8. Mory hod $1000.
She spent $832 ond soved the rest.
How much did she sove?

9. Lihuo used 4 kg of flour to moke cokes.
She used 1B eggs for eoch kilogrom of flour.
How mony eggs did she use?
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10. There ore 650 men ond twice os mony women working in o
fo ctorv.
How mony workers ore there in the foctory?

11. A former hod 2000 chickens ond ducks.
After selling some of them, he hod 650 chickens ond 520
ducks left.
How mony chickens ond ducks did he sell oltoqether?

72



X 1 A 5 6 7 a 9 10

2 4 18

5 9

8 z+

40

10 40

REVISION 3
1. Complete the following tobles.

(o)

(b) Eoch bog of rice weighs 10 kg.

2. Write two multiplicotion sentences ond two division
sentences.

A\-J
dr
A\\J
fl-Ttt1-tl
f l=f ltltl

/e-\\J
o
/+-\\J

T
l

/ir-\({/
\-J
/-it-\t)
\\/

/_iY\

oooo
/s'\ /v'\({)({)
\-J \-J

T'E=T
T,E=E

Number of bogs 2 3 5 7 o 10

Totol weight 20 ks
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lIrr

4. Fill in the blonks.

(o) 2985 is less thon 3000.

(b) 10 000 is 1000 more thon

(c) In 2546, the digit

(d) In 4609, the digit 0 is in the

3. Write the volues
numbers.

(o) 37s1

of the dig its in eoch of the following

(b) 7o73

is in the hundreds ploce.

proce.

(e) The difference between 990 ond 1000 is

(f) When 426 is divided by 4, the quotient is

ond the remoinder is

missing numbers.

+3,-------\/r_\()
---'-/ \ ,/

-3
x5

--'-- ---\/_\
()

-'-.---_,_,--- \ ,/
+5

74

5. Write the

(o)
(o)v./

(b) +68oe@
-68
x 10oe@(d)

+10



6. An olbum con hold 400 stickers.
Lily hos 199 stickers.
How mony more stickers does she need to fill the olbum?

7. Sumin bought 4 bottles of syrup to moke 96 glosses of
drink.
How mony glcsses of drink could she moke from q bottle of
svrup?

8. A tope recorder costs $175.
A typewriter costs 3 times os much os the tope recoroer.
Whot is the cost of the tvpewriter?
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9. Sumin hos 1200 stomDs.
860 of them ore Singopore stomps.
The rest ore Moloysion stomps.
How mony more Singopore stomps thcn Moloysion stomps
does he hove?

10. A computer cost $1900.
A television set wos $650 cheoper thon the computer.
Mr Roju bought both the computer ond television set.
How much did he poy?
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EXERCISE 26
1. Find the ouotient ond remoinder.

Quotient

Remoinder

Quotient

Remoinder

Quotient

Remoinder

Quotient

Remoinder

tlL]

E

E

EL]

Quotient

Remoinder

Quotient

Remoinder

Quotient

Remoinder

Quotient

Remoinder

EL]

T]tI

t_lE

T]



2. Rohmct put 74 cookies equolly into 3 jorS.

How mony cookies were there in eoch jor?

How mony cookies were left over?

3. Mrs Fu sold
The flowers
How mony

70 flowers.
were in bunches of 5.
bunches of flowers did she sell?

4. 96 childrdn
How mony

divided themselves into groups of 4'
groups were there?

7a



EXERCISE 27
1. Divide.

3T2se

sI4t:

Whqt ore the mcchines on this poge?

Write the letters which motch the onswers to find out.

86 128 82 82R3 250 86R1 314 204
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2. Dovid soved $900 in 4 months.
He soved the some omount of money eoch month'
How much did he sove o month?

3. Mrs Lim hod 186 stickers.
She gove 5 stickers to eoch pupil in her closs'

How mony pupils were there in her closs?

How monv stickers were left over?

4. 3 oupils sold 243 concert tickets oltogether.
Eoch pupil sold the some number of tickets.
How monv tickets did eoch pupil sell?

80




